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Instructions for candidates :

This question paper is in two parts.

Part - I is related to Reasoning Test which
consists of 30 questions.

Part - II relates to Scholastic Aptitude Test
which consists of 120 questions relating to six
subjects listed below :

1) Mathematics : 30
i1)  Science : 30
ii1)  Social Studies : 30
iv)  Punjabi : 10
v)  English : 10
vi) Hindi : 10

Each question carries one mark. All questions
are compulsory.

You have been provided an answer sheet
(OMR) for this question booklet. Darken the
circle of correct option of each question in the
answer sheet (OMR) with black/blue ball pen.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in this test.

Do notuse white fluid on Answer Sheet (OMR) .
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Part - | (Reasoning Test)

mge 'PERSONALITY' ® 311, 38, ¥As’, A3<
3 TAS NYUT 58 7 A9EK A€ g3 J
SreT ufgs nfug TR

1) O 2 T

3 R @) S

Toustal fraazofegfeaegusasae
e ffonit I UA" A 37| BRraz9few
f&s equsz 957

1 8 @ 9

3) 10 @ 11

BIrE=T Bl fexwut Tt ga<t ITIT T |
(1) o&dH (2) g9

(3) sy (4) HIS

(5) Jdarg

(1) 124,35 (2) 24,153

3) 41352 @) 53214
gt St B U 9|
a__bbc__aab_ cca_ bbcc

(1)  bacb (2) acba

(3) abba (4) caba

BDF, CFI, DHL, TTNAIST UT &t Jear?
(1) CIM 2) EIM

3) EJO 4) EMI

fogem (UAs 6-7) :

fesgBe A ASUfE39AT® I @At fa 39D
T fe39cam T | fE3IT eI/ (1)
@) S o fe3IsgaDIThmrar
A |

AH AN fg 39

(1) (2) (3) 4)

1.

Third, fourth, fifth, seventh and tenth letters of the
word 'PERSONALITY' form a meaningful word.
Whatis the first letter of that meaningful word

(1) 0 (2) T

(3) R (4) S

In a row of trees, one tree is fifth from either end of
the row. How many trees are there in the row?

(1 8 2) 9

(3) 10 (4) 1

Arrange the given words in a meaningful sequence
and then choose the most appropriate sequence
from amongst the alternatives provided.

(1 College (2) Child
(3) Salary (4) School
() Employment
) 1,2,4,3,5 (2) 24153
(3) 41352 4) 53,2,1,4
Complete the letter series
a__bbc__aab__cca__bbcc
(1) bacb () acba
(3) abba (4) caba
What will be the next termin
BDF, CFI, DHL,
(1) CJM (2) EIM
(3) EJO (4) EMI

Directions (Questions 6-7) :

Figure D holds same relation with figure C just as
figure B holds relation with figure A. Search D out
of given answer figures from (1) to (4).

Problem Figure

|4

A B
Answer Figures

e e

(1) (2) (3) ()

=l 2
&
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Ol 2

A B C D

(1) (2) (3) (4)

8. dJatfe3fozsgfegfadsgaas?

(1 17 2) 25
@) 27 (4) 30

9. It fe3fosefee fagn & fast a9

/ A\

(1) 16 (2) 18
3) 14 (4) 15

10. forsfsfus mae e Taus ySifig g3:

AMBULANCE
(1) 3IONAJUEMA (2) 3cNAJUBMA
(3) 3ONAJUBMY (4) None

4

Problem Figure

- 1O|1B||O] 2|

A B C D

Answer Figures

=|®

(1) (2) (3) (4)
8. How many squares are there in the following
figure?
(1 17 (2) 25
(3) 27 (4) 30

9. Count the number of triangles in the figure given
below.

10.  Find the mirrorimage of following word:

AMBULANCE
(1) 3IoNAJUEMA (2) 3cNAJUBMA
(3) 3ONAJUBMY (4) None
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11. f&3 38 feamsut (1), (2), (3), (4) " fo39

) T AsYStEa s 9|
(%)

12. miafe3 e rEe o as y3Ha53:
QUARREL
(1) onvBKET (2) OUAAAIT
(3) OUVBKET (4) onvyyar

fooem (Yyas 13-14)

yes 3. 13 »i3 14 o9 a9 Has &t ufenr 3
T8 393lg g feur@en 35 3RS XYz,
fa'dhnit 95| fros o fe 39 zearB@e afafese
3 & " fenr famir 31 99 €39 fo'sei fes €A
fo'se g e fo's9z 3 vwe Quds g3ar|

S rman,

! ot |
i3 (x) v) @ _
) n| a_ O
ol % o | oo
(|
- 2% "
(1) (2) (3) @)
14. ) @
Oo o %o L ﬂc} _ oD 9%
ol %o % o e Oor
1) (2 (3) (4)

5

1.

12.

Find water image of picture (x) out of given
options (1), (2),(3), (4)

2

(1)

&

—
X
=

()

©) @

@3%

&
SIe

Find waterimage of following word:
QUARREL

(1) onveKEr (2) pUAAATT

(3) OUVBKET (4) onvyyar

Directions (Questions 13-14)

Question No. 13 and 14 consists of set of three figure x, y, z
showing a sequence of folding of a piece of paper. Figure z
shows the manner in which the folded paper has been cut.
From the given four answer figures choose a figure which
would most closely resemble the unfolded form of figure z.

13.

14.

! ok |
) v) @ _
| [ T
= O o ‘ oo
|
- GOGO a_
(1) @) @) @)
E. ;E :
®) @
OP o GU o 0 &300
C‘P GD [} -00 w} i::‘CI' 2 |
) @) @) (4)
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15.

16.

17.

18.

19.

20.

fe'3 feawu f'e 8ot 35 feasut @ Ay <t
g9 9, figt § wrun e A9 & fea yor
T YIS e I

(1) 145 2 245
(3) 123 @) 234
Ax9 ‘ge’ § ‘g’ fagr AR, ‘79’ § ‘BiE

?ﬁfsmm?amfaahwa%arr?
(1) & (2) YA
(3) e (4) Ut

ABEt3=73, C,BE€tHi T D,Ce fusT31 E,D
WM T ISTERAT Da® ol fam3ta?

(1) ==t (2) =T

(3) u3dt (4) ust

feEg a3 feg A3 B3 X E 3 UA WI 751
ABRRAURIIECTHIURMIATHA
UR I B,D T AA UR I faoz we fasas
fegaa 1

1mn A (2)
3 D 4)

HIH, I€9H" »3 Sfonit fegars AT THE
el gae 35 fosa St g aq|

6@
(1) (2) (3) (4)

S T

fe's 3¢ mae’ g fsamsdt nigA™e 393tE fe6

w3 TR A 3 ufow mae faggT 9ar?
(1) Nature (2) Native
(3) Narrate (4) Nascent

6

15.

16.

Hidy

18.

19.

20.

From the given alternatives select the group of
three alternatives which when fitted into each
other would form a complete square.

> v <ID

i ) @ @ )
(1) 145 2) 245
3) 123 (4) 234

If 'Air' is called 'Green', 'Green' is called 'Blue’,
'Blue'is called 'Sky"', 'Sky' is called 'Yellow'", 'Yellow'
is called 'Water' and 'Water' is called 'Pink’, then
what is the colour of sky?

(1) Blue (2)
(3) Yellow (4)

Sky
Water

Ais B's sister, C is B's mother, D is C's father, E is
D's mother, then how is Arelated to D?

(1) Grandmother  (2) Grandfather

3) Daughter (4) Grand daughter

There are five different houses Ato E in arow. A is
to the right of B and E is to the left of C and right of
A, B is to the right of D. Which of the houses is in
the middle.

1) A (2) B

@ D (4)

m

Choose the Venn diagram which best illustrates
the relationship among Sun, Moon, Stars.

QO@O‘

(1) (2) (3) (4)

Arrange the words in alphabetical order and
choose the one that comes first.
(1) Nature (2)
(3) Narrate (4)

Native
Nascent
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fsgem (Yyms 21-23) ¥y uyR fe 3t ms3T
WEATS A H UTH €t ANTSST § YT &3 |

21.

22.

23.

24.

25.

26.

A fg st iya: ?
(1) uz
(3) B

(2) HI
(4) gET

ness : feore: i AES @ 7
(1) niftoiux (2) fefenrast
(3) wiEaras (4) TR

fasgr:adt::32: 2
(1) I3 (2) 3dar
(3) mHes (4) 9 (AHEdtdsn

‘TS T H AEU ‘@R &® I, €dt mdw

a

(1) nrfess (2) =9
(3) HwEsT (4) FU3

fam A" d&s 3™ fe'g COMPUTER 3
'RFUVQNPC' faftmr aierJ| BRas s fee
'MEDICINE' 3 fo="* fesfemm Ar=ar 2

(1)  EOJDJEFM (2) MFEJDJOE
(3) MFEDJJOE (4) EOJJDFEM
f8°39 (x) Bt At T9us yIifag g3:
G
2 S
(%) (1) (2) (3) 4)

Directions (Questions 21-23) As given in left side analogy
complete analogy of right side.

21,

22,

23.

25.

26.

7

Paw:Cat::Hoof:?

(1 Horse (2) Lion

3) Lamb (4) Elephant
Court: Justice: : School : ?

(1) Teacher (2) Student
(3) Ignorance (4) Education
Bank: River::Coast:?

(1 Flood (2) Waves

(3) Sea (4) Beach

"Joule' is related to 'Energy' in the same way as

'Pascal'isrelatedto................ ?
(1) Volume (2) Pressure
(3) Density (4) Purity

In a certain code, COMPUTER is written as
RFUVQNPC. How is MEDICINE written in same
code?

(1) EOJDJEFM (2)
(3) MFEDJJOE (4)

MFEJDJOE
EOJJDFEM

Choose the correct mirrorimage for figure (x)

() (1 ) ©) 4
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27. fg39 (x) AOHE f&3 T v9 feawut
1,(2),(3) 7 (4) fe g fan fea feg fae

Jor I IR feamu g2 |
§3]9%
) 4)

b [T
X | )
) M @ e

W

28. fe3 I feawut (1),(2),(3) #AF (4) &%
Tae fe'q feasy 575 f£'3 38 »us Uevs
() YIS |

2N NN N XK

x) M @ @ @

29. f&'x uA Tt 79 AfEShert fe St arghrt
TS| NiX 3 T feudis Xz nig nirear |

TLL

1) 1 2
3) 4 4) 6

30. f&'x uA ot 35 Afashet a3t ardhrt
TS| NiX 4 T feuds Xz wig nirear |

Y

(1 (2)
@) 5 (4)

27.  Figure (x) is embedded in one of the four
alternatives (1), (2), (3) or (4) find that correct

alternative.
7 , =
) (1) @ @ @

28. Complete the missing portion of the given pattern
(x) by selecting from the given alternatives (1), (2),
(3)or(4).

2N NN N K

x) m @ @ @

29. Four positions of a dice are shown below. Which

LY

3) 4 (4)

30. Three positions of a dice are shown below. which

numbers lies opposite to 4.
(1) 1 (2) 2
6

@ 5 (4)

www.meritorious.successadda.in




31.

32.

33.

34.

35.

36.

37.

Part - Il (Scholastic Aptitude)

-2 3 -5 fAsat =@t fSsht € wht
FouT JEIMT?
(1)  JEradt (2) f&x

3) (4) nd3

A9 € WSt ggUT ax? + bx + ¢, ¢20 ¥ #9
g9799 I, 3t

(1) cn3av BB fdg I8

2) cM3be BB fdg I8

(3) cm3aTfeEafdsd

(4) cm3pEfeEafdsd

A far AP & ufgsr, gar »i3 st ue
FHET a,b 3 2a T, 37 for T 77 ot J=ar?
(1 1 (2 0

(3)  2ab/(x+b) (4)  3ab/2(b-a)

f&3 a2 gu=t v feost © Hons 3 fegwst
(1) INAT fIE=3H
(2)  JHAUSSHA

3) 0
(4) 9 3 fast ot S nix

far vA wes' &t Asws, ySHs &9

9 TU-TY fadtust ¥ Az &t wigar 20.5
T AT Az 3 T3 4 fodust § 2 =ur fe'sr

2 3 52 A ot Hifaar ot 9 ?
(1) 2 I AT |

(2) 2 TTWTET J AT |

(3) WAS H o 3 T et d<dt |
(4) ufgst =t it 9adt |

Aftmret ¥ fe'a ayo oo »ix 4 f3s =,
I 5 € TG, Nid 6 F TF, MK 8 NS T
3 nix 10 A3 9 m@e 3, fegst

Aftpret @7 ggBI UST IS |
1) 10 2 7
3 75 4 8

9

31.

32.

33.

34.

35.

36.

37.

The number of quadratic polynomials having -2
and-5as theirtwo zeroes is

(1 none (2) one

(3) two (4) infinite

If the zeroes of the quadratic polynomial ax? + bx
+¢,c=0areequal, then

(1) 'c'and'a" have opposite signs

(2) 'c'and'b" have opposite signs

(3) 'c'and 'a' have the same sign

(4) 'c'and'b" have the same sign

If the first, second and last term of an A.P are a,b
and 2arespectively, then what will be its sum

(1) 1 (2) 0

3) 2ab/(x+b) (4) 3ab/ 2(b-a)

The sum of deviations of all the observations
from theirmeanis.........

(1 always negative

(2) always positive
(3) 0

4) non-zero number

The Probability of occurance of a Particular
eventin percentage can never be.....

(1 lessthan 100

2) lessthan 0

(3) greaterthan 1

4) anything buta whole number

The median of set of 9 different observations is
20.5. If each of the largest 4 observations of the
setis increased by 2, then the median of new set:
(1 isincreased by 2

2) is decreased by 2

(3) is two times the original median

(4) remains same

The set of numbers consists of three 4's, two 5's
Six 6's, eight 8's and seven 10's. What is the
mode of this collection of numbers.

1) 10 2 7
3 75 @ 8
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38.

309.

40.

41.

42,

43.

44,

45,

52 yfanit & 3T f&9° f&'x U3 S fan
Her I, 3T I fen™ U'ST &% J9d1 € f939

U3t IE O HeTEsT ot deait?
(1) 3/26 (2) 3/13
(3) 2113 (4) 112

AT 10x-3y=16 ™3 3x-0y= % & Je

Iy TF AR ... J=athort >
(1) AUTST
(2) AH=9

(3) freefeafde3 gt
4) feost o5 ast &t

F9 p-1, pt3, 3p-1 ix AfeE3x HH feg T8

I p T H G St IJAT?
(1) 4 (2) -4
(3) 2 (4) -2

mtaas 27=2"=\§fSgy T H& gar-
1) 0 2) 1/4
(3) Yo @4 Y

ffx »3x % I Tt I51 Ax9 €9
U IIX €AS 3 2 AT 3 A 5 et fier
I, 3t 8r I o=t =<t It FUEt, 3T R

(1) 45 (2) 30
(3) 12 (4) 24

AHIXT® Ix™ mx +n = 0 ¥ HS' BT niguU™s 3:4

=~ , =
(1) 10n’=49ml 2)  12m=49nl
(3)  m=onl (4)  4F=49ml

T x+y =90° ni3 x=2y 3T Cos’x+Sin’y T HS,
1) 1 2 0
3 12 4 -2

AT sin = m/n 3 Vn-m’=1, 3t tand T HS

(1) n/m (2) m
(3) n*-m’ (4) m’
2 n’

38.

39.

40.

4.

42,

43.

44,

One card is drawn from a deck of 52 cards. The
probability of its being ared face card is:

(1) 3/26 2) 3/13
(3) 2113 (4) 112

The graphs of equations 10x-3y=16 and 3x-9y=%
aretwo lines, whichare..........

(1) Coincident

(2) Parallel

(3) Intersecting exactly at one point

4) None of These

Ifp-1, p+3, 3p-1arein AP, thenvalue of pis?

1y 4 2 -4
@) 2 -

The value of y in the equation 2/ =2'=8 is:
(1 0 (2) 1/4

@ Y% 4 Y

A boy has some toffees. If he gave 2 or 3 or 5
toffees to each of his friend, then he is left with no
toffee. Then how many toffees at least he must
have?

(1) 45 (2) 30

3 12 @) 24

The roots of the equation Ix*+ mx +n = 0 will be in
the ratio of 3:4 if:
(1) 10n°=49 ml (2)

(3) m?=9n| (4)

12 m%=49nl
4 =49m|

If x+y =90° and x=2y then Cos’x+Sin’y is equal to:
(1) 1 (2) 0
@ 12 @ -2

If sind = m/n and Vn™m’ =1, then tano will be
equalto...

(1 n/m (2) m
(3) n’-m’ (4) m’
2 n’
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46.

47.

48.

49.

50.

51.

LT X, Xy Xy rnnro X, T A3 M I W3 AT X, &
' €3 x' fftmir 772 3t &<t wiA3 ot 34t ?
1) (Mx#)n () (Mx+x)h

3) (n-1)M+x"Yn  (4) M-x +x'

fex we= narg € utst &t 2 €9 216
®eg Ut T1fen <t Surel, ferst Saret
T 1/3 fdmr T w3 S37, feret Saet w3
SwrEt T nizg @ fEx fzoret e 1/2 fdmr 31
I T BTEUSITAS |

(1) 203t 2)
(3) 63 (4)

173 Mt
23 M.

fe's Baarat fASsT 30 Adhites <t 8uret
TS HY g9 € fomr Ifenr I, By T
BaSt A 60° I M3 fAssT w fenrr 813
Ahites 3 1Hg T nrfess ot 32

(1) 300077FAH (2)  4860nHM

) 30007 AH® (4) 1500 FH®

M6x {18 fom sgi St Aftmr I 2
(1)  wufara Afgnr

(2)  ufgre Afanr

(3) TS

(4) fegot &g aet adt

A9 P fe'a s Augs Aftr 3 37 '
f£...... T

(1) I AYIS At

(2)  THA3 AYTs Afanr

(3) 3 Erdred

(4) feggtfes agt st

f3g7 ABC fe 9 AB=AC 3 ALZA"BC €3 L
’3 B9 9| f337 DEF fe"g DE=DF »13 DM 37"
EF 83 M °3 &9 31 79 {337 AABC~ADEF

w3 (arAABC): (arADEF)= 9:25 § 3f
(DM +AL)

(DWAL) 99 Jar:
(1) 6 (2) 4
(3) 3 4) 5

46.

47.

48.

49,

50.

51.

11

If M is mean of x,,X,,X,,....... X, and we take x' in
place of x, then what will be the new mean?

(1) (nM-x,+x')/n 2) (M-x,+x')/n

3) (n-1)M+x')n (4) M-x +x'

A cuboidal water tank has 216 liters of water. Its
depth is 1/3rd of its length and breadth is 1/2 of
1/3rd of the difference of its length and depth.
Find the length of the tank .

(1) 20dm (2) 17dm

3) 6dm 4) 2dm

Aright circular cylinder is covered with a cone, of
height 30 cm. The vertical angle of the cone is 60°
and the diameter of the cylinder is 8V/3 cm. what
is the volume of the cone?

(1) 3000/7tem® (2
3) 3000w cm? 4)

48607 cm?®
15007 cm?®

Which type of the numberis {16 x 418 ?
(1) Irrational Number

2) Rational Number

3) Both(1)and (2)

(4) None of these

If'p” is an even integer, then 'p'is an:
(1 odd integer (2) eveninteger
3) multiple of 3 (4) none of these

In AABC, AB =AC and AL is perpendicular to BC
atL.In ADEF, DE = DF and DM is perpendicular to
EF at M. If AABC~ADEF and (arAABC): (arADEF)
=9:25, then (DM +AL )

(DM-AL)
(1 6 (2)
@ 3 (4)

is equal to:
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52.

53.

54.

55.

fe3 arg fg 39 f9 AB, EF »3 CD AH3T
Juet I5 | A9 EG =5 A, GC =10 AN, BF:
FC= 2:1 »3 DC= 18 AM Jd< 3t AB gI'g9

EN

Jear:

[} 3 (4
(D) 18 AH (2) 27 AH
(3) 24 AH (4) 30 AH

fe3 arg fg"39 fe'9 ABC f&'a mia= f3a=
3| BDEF fe'g ¥9ar1 3| A9 AE=15 AN, »i3
AC=35HH T, 3T BDEF T 439eB U3TXJ |

A

E E
b
B D c
(1) 169 AH (2) 144 AH®
3) 100 AH (4) 225 A’

fe'3 fo39 fe9 PQR, 7 AX nigufeni T3
fe'g gz = Juet fomr J1fgse foe
g firfent famr 3| fer niegst g a9 &7
YSISHB US| )

(1) 385-221\2 7" Mt

2) 308-1542 AT

3) 154-T7\2 7' Mt

4) 462-308\2 7' Mt 1 R

F,
(
(
(

&3 fazg oo feu® wigAe fe'q g
OABC, f&'g ¥°x9 ¥ dJ=r€t g1 OPBQ ©
vied gfen Ifenr T A9 0A=15 AN I=
3t Zrfen »ifas Iar @ 439ES UST AJ |
(1=3.14333)

(1) 64125 W2 (2)
(3)  4815m (4)

128.25AH?
1188 AH?

53.

54.

55.

In the adjoining figure, AB, EF and CD are parallel
lines. Given EG =5 cm, GC =10 cm BF: FC=2:1

and DC=18 cm, then AB is equal to:

&

) 18cm 2) 27¢cm
3) 24cm (4) 30cm

In the adjoining figure ABC is a right-angled
triangle, BDEF is a square, fAE=15cmand AC=
35cm. What s the area of square BDEF?

A

(1) 169cm? 2)
() 100cm? (4)

144 cm?
225¢cm?

In the given figure PQR is a quadrant whose
radius is 7cm. Another circle is inscribed in this
quadrant as shown in the figure. What is the area

ofthe inscribed circle? "

(1) 385-221V2sqcm

(2) 308-154+2sq cm

3) 154-772sqcm

4) 462-3082sq.cm a R

In the figure, a square OABC is inscribed in a
quadrant OPBQ. If OA=15 cm, find the area of the

shaded region. (use t=3.14)

128.25 cm?
1188 cm?

(1 64.125cm? (2)
3) 481.5cm? (4)
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56.

57.

58.

59.

60.

61.

62.

63.

64.

AT sin0 +sin’0=1, 37 cos’0 +cos'0 ot I=ar|
(1) 2 (2) 4
(3) 0 (4) 1

A9 0=60°, I 37 % \V1+sin0 +% \1-sin =T
H& & Jar |

(1) cot0/2 (2)
(3) sin6/2 (4)

sec 0/2
cos 0/2

Ax9 f&'x & = ni9g fenA 100% =TT
fe'3T A 37 IS T nirfess 48 yStms =g
Hrar?

(1) 200% 2)  500%

(3)  700% (4)  800%

fe'g geet v qups s e g v T
fAAeT nigg ferrR 0.25 AL I3 A fa e
Iy difeert T fafomt § fier a afonr
Ifenr T1 A9 SuEs &t saret 2 Ao T
SURS T X & AST! 439 of J2ar?

=

(

el

(1) 3A4F T (2) 2.7475 B M2

(3) 0.98125 7' .M. (4) 0.785 7 Mt

BH %39 TT U39e® UST 9 # X 6 AH AT
TS TIIT © niwg fa'e i3t famr Ty

(1) 36m A HT. 2) 187 A .HT?

(3) 121 B (4) On A Mt

T fo@uste Rexwetaa . ... ... foar
"ET |

(1) 33Iete (2)  HAEIUR

(3) NIAS (4)  HAEUSHH

3gT § HT ¥ AT niTe Une fae’ fieer 32
(1)  cHGsfeGaadt

(2) AN . ﬂ.

(3) M Ehrt ISt It

(4) o H. ﬂ;

Hatl &9 et gnrgr far Ir = fare
T HETT?

(1)  »hstsa

(2) fErdls

(3)  TEEIABIIR 3T

4) dufrs

ffex yfafanret d97 7w T fao3 s &g
IBaH = urfegee R ufgeass ger 3?
(1) AEUSHH  (2) IT&H et
(3)  HEteABIT (4) SBETRRN
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56.

57.

58.

59.

60.

64.

Ifsin6 +sin’0=1, then the value of cos’0 + cos‘0 =?
(1) 2 (2) 4
(3) 0 (4) 1

If ©=60°, then the value of
% V1+sin0 + %\/1-sin9 is equal to...

(1) cot6/2 (2)
(3) sin6/2 (4)

sec0/2
cos 0/2

If the radius of a sphere is increased by 100%,
then the volume of the corresponding sphere is
increased by:

(1 200% 2)
3) 700% 4)

500%
800%

A medicine capsule is in the shape of a cylinder
whose radius is 0.25 cm and made with two
hemispheres struck to each of its end. The length
of entire capsule is 2cm. What is the total surface
area of the capsule?

(1) 3.14cm’ (2)
3) 0.98125¢cm’ (4)

2.7475cm’
0.785cm’

Find the area of a circle that is inscribed in a
square of side6cm ?

(1) 36mcm’ (2) 18mcm’

(3) 12mem’ (4) 9ncm’

The gap betweentwo neuronsis called ..............
(1) Dendrite (2) Synapse

(3) Axon 4) Cytoplasm

How foetus gets nutrition in mother's womb?

W) Through Fallopian Tubes
2) Through placenta
(3) Through bones of Mother
(4) Through Ovaries

Which of the following is a secretion of salivary
glands?

W) Amylase

2) Insulin

(3) Hydrochloric Acid
4) Pepsin

During life processes, in which part of cell,
conversion of glucose into pyruvate takes
place?

(1 Cytoplasm (2)
(3) Mitochondria 4)

Golgi Bodies
Lysosome
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66.
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71.

Jae fe'o gvz T gy fe'9 fagdt am ©= 65.

guﬁ%@uﬁarzjﬁ%'?
(1)  Was

(2) JTEtEIAs

(3) &EeAs

(4) wa’a%z@waweﬁ—a'

800, 30Q, 50Q & ®I-gU AIAe &9 66.

e famr 3, st ySASuar = I

Y u3TI9?
(1 120Q (2)  140Q
(3)  160Q 4)  170Q

fe'a P a3t =3 € 3% don s UEt feg 39 67.

fa*sT famr 3, foret Fat f¥T ot amem
rar?

(1) TU AT

(2)  detufgedss adt

(3)  weadt

(4) % Id1 BT U w3 SIS Jar BE
wedt I

fag uast, dseenr § 10N ¥ qgs" 68.

WEIHE 98 58 MAIH3 J9e I 37

xJar?
() 10°NFwe

(2) 10*N

(3) 10°N3 g7

(4) 107N

Ao W J: 69.

(1) MBS fEg 30%-40% niFtfes nifAs e
(2) MBI T 5%-8% nirtfex mifas =t
(3) UTEt fe9 5%-8% niAtfea nifAs =

(4) UE f€9 15%-20% wiAltfexs wifAs =

& g7 9A fou faog miswrein a4t ger ? 70.
(1)  »HESA (2) wEUA
3) s 4) feufrs
AT 3" vigreT fauH ot e e 32 71.

(1)  Der oot famet orgr of fomr
(2)  UerJet faast grgr €t HsaT
(3)  Uerde gudt 39 <t femr

S~ o

(4) YT JT guolt 43I T
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Which gas is usedin liquid formas ainthe rocket ?

(1) Argon

(2) Hydrogen

(3) Nitrogen

(4) Carbon dioxide

8002, 5000, 30Q resistors are connected in
series, what will be the resultant resistance?

(1) 1200 (2) 140Q

(3) 160 Q2 (4) 170Q

A convex lens of power P is immersed in water .

How willit's power change?

(1) Increases

(2) Remains same

(3) Decreases

(4) Increases for red colour and decreases for
blue colour

The Earth attracts the moon with a gravitational
force of 10” N. Then at what gravitational force
moon will attracts the earth ?

(1) Lessthan10”N

(2) 10°N

3) Greaterthan 10”'N

(4) 10*N

Vinegaris a solution of :

(1) 30%-40% acetic acid in alcohol
(2) 5%-8% acetic acid in alcohol
3) 5%-8% acetic acid in water

(4) 15%-20% acetic acid in water

Which enzyme is not present in pancreatic juice?
(1) amylase (2) lipase
(3) Pepsin (4) Trypsin

What does the Right - Hand Thumb rule give ?
(1) The direction of the generated electric current
(2) The amountofelectric currentgenerated

(3) The direction of the generated magnetic field
(4) The size of the magnetic field generated .
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H, feT foBast 3 fedags & FHE9
fast 3=t 9.

(1 0,0 (2) 0,1

3) 1,2 4) 2,3

*cl,, , ’Cl,, , M3 “Ar,,, “Ca,, FH="9 Buragst
I

(1) AHSTTIS 3 AHAET 6 ght

(2)  AHAETEE M3 AHMTIS

(3)  FHMITII M3 AHS I it

(4)  PHAET 6x M3 AHSTIR St

WEITIITTI ?
(1) 39T — naA® — &3 fAar

— A% gst

(2) H® IS — 3IIITIE > MTHE >
a3 frgr

(3) 3BJITIC » H® IS — WTHS =
a3t fiar

(4) &3 AT - MaAs > B I8t >
EESRSIFS

Hg t HeT &' fxgam fugBedt oaHs nis
E3AIHs §AeIB AT I ?

(1) LH (2) FSH

(3) ITWIIHE  (4) EHESHS

AHS® T9UT ©t <aA g9l fdat get 32
(1 0 (2) nfé3
(3)  25AM (4)  -25AH

TSt &g fuz € nrerel Sus &t faos
TIUT T QUG 3T AT I?

(1) 3% TauT

(2) E3® TIUT

(3) FAH3IBTIUT

(4) BusazHS

It 3 Jart &9 far Jar & ST STt AT
3 Fg Jait?

(1 1% (2) Ut®

3) Jdr 4) B

72.

73.

74.

75.

7.

The number of neutrons and electrons present in
the species H', respectively:

W) 0,0 (2) 0,1

(3) 1,2 (4) 2,3

*cl,, 7Cl,, , and “Ar,, , “Ca,, are respectively
example of:

W) isobars and isotopes
(2) isotopes and isomers
(3) isomers and isobars

(4) isotopes and isobars

How does electrical impulse travel in aneuron?

M Deadrite — Exon — Nerve end — Cell
body

2) Cell Body — Deadrite — Exon — Vascular
End

(3) Deadrite — Cell Body — Exon — Vascular
End

4) Vascular End — Exon — Cell Body —
Deadrite

Which pituitary hormone regulates egg
secretion in human female?

) LH (2) FSH

(3) Growth Hormone (4) Thyroxine

What is the focal length of plane mirror?
(1) 0 (2) Infinite
3) 25¢cm (4) -25¢cm

Which type of mirror is used in vehicles as a rear
view mirror?

(1) Convex Mirror

(2) Concave Mirror

3) Plane Mirror

(4) AboveAll

Which of the following colour has maximum
wavelength?

(1) Blue (2) Yellow

(3) Green (4) Red
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TS HSas A9 et famr 37 @R Uzt
Wﬁ@ﬂé’rweméweﬁ
Gpsidod Qaasﬁvs&mrrféﬁ'f‘srﬁrfe:né?w
T faag I?

(1) oo femdt €n

(2) o e

(3) HAITEd fgmesT

(4) TIfgnten

Jot feur® ASe § Y & 3 yfsdu usT
ol

4L
203 AWV
— AN —= - -
A I
L AAAN—
12€2
(1) 18Q (2) 40
(3) 5Q (4) 10Q

H'I<S A9 AN Adae f&o faaset arar er
H'S

(1) WedAwd

(2) <udEd

(3) fEarHs Ifderd

(4) Budas AT

st ¥ faasst niuwes €98 JEs nis
MBS 3 YU3 AT T »irfEss T nigyus &t
Jer I?

(1 12 (2)  2:1
(3) 1:1 (4) 1:8
CaOCl, =" AOaE a™H a1 I?

(1) frume

(2)  IHAfCIAST

(3) Jarde

4) FUF U T AST

pH T+ &t 37 flat gt 372
(1) 0-10 (2) 1-7
(3) 0-14 (4) 1-10

JT<alads fafanr &9 &9 & #Har 3 96T

we 8R €uw foam oz ¥t ues wgrEt At 99
(1)  fA®eg (2)  uBItEH
(3) T 4) fa
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80.
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84.

85.

Gurpreet went for a medical check-up and found
that the curvature of his eye lens is increasing.
Which defects is he likely to suffer from?

W) Myopia

(2) Cataract

(3) Presbyopia

(4) Hypermetropia

In the following circuit what will be the effective

resistance?
L2

20 WW—
- M IA._\-_.I \ ."\- ’_.
A Y ) B
AW )
1262

(1) 1802 2) 4Q
(3) 5Q (4) 10Q

During short circuiting the value of current
1) Decreases

(

2) Increases

(3) Remain Same
(4) Allofthese

During electrolysis of water what is the ratio (by
volume) of gases produced at cathode and
anode?

(1 1:2 (2) 21

3) 11 (4) 1:8

Whatis the common name of CaOClI, ?
W) Gypsum

2) Caustic Soda
(3) Bleaching Powder
(4) Washing soda

Whatis the range of pH scale?
1 0-10 (2) 1-7
3) 0-14 (4) 1-10

In galvanization, which metal is electroplated on
Ironto prevent rusting?

(1 Silver (2) Platinum

(3) Copper (4) Zinc
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Jo fofimt f&9° faodt o3 A 3 <U

fafanmmits 32

(1)  fAw=eg (2)  UTTHMH
(3)  HasHEMH  (4) fix

f8g T 9n e faga Sma der 37

(1) frefsa3ag  (2) c9cfIx 39™
(3) EEafex3Ag (4)  @dfex IA™

Wt AT yT'@t v fag3 niar f&g dmt =

TcETTgerI?
(1)  Ueyger (2) oGS
(3)  niBIHEr (4) gt

<

faa3 »g At i dhiewfas Hge dev 3?
(1) HASEIAST

(2)  USBHSH

(3) FBIIST

(4) A

Ufent &g ust = ufsefos for feg enmer
Jer e

(1)  cBfed

(2)  wfesd

3) #A3

4) fegst feT et adt

Ha9™H I3 fiw @ 9 AR Jame & yost
Je faadft /it |

(1) =fgwrassa (2) <fonrfdg

(3) efgnmuidrg (4) <fanr o
1911 €: fSe fam riecw =ferae 3 &8t §
393 €1 IHUS g X UAE § Y &9 fesT AT
(1) I3 IIa6

(2) »IS IS JACIH

(3) IS IBIHT

(4) I3 IS

ASH ¥0" &€ ARSIt 3 fx93 AHW <t

AEYST 13T |
(1) S AHT
(2) HIHAHH
(3) #oAHH
(4) SUAHH
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g
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93.

Out of the following which metal is most
reactive?

(1) Silver (2)
3) Magnesium (4)

Potassium
zinc

Which acid is presentin lemon juice?
(1 CitricAcid (2) TartaricAcid
(3) EthanoicAcid  (4) LacticAcid

In which part of respiratory system exchange of
gases occurs?

(1) Diaphragm (2)
3) Alveoli (4)

Bronchiole
Bronchi

Hemoglobin is present in which type of blood
cell?
(1) White Blood Cell (WBC)

(2) Platelets
(3) Red Blood Cell (RBC)
(4)  Lymph

Which tissue in plants is responsible for
transportation of water?

(1 Phloem

(2) Xylem

3) Root

(4) None of the above

Which was the eastern boundary of Punjab
during Maharaja Ranjit Singh's period?

) River Satluj 2) RiverIndus

3) RiverGhaggar  (4) River Beas

In 1911 AD, which British Viceroy separated Delhi
from Punjab and made it the capital of India?
W) Lord Curzon

2) Lord Warren Hastings
(3) Lord Dalhousie
4) Lord Harding

Which samaj was founded by Swami Dayanand
Saraswati?
W) Arya Samaj

2) Brahmo Samaj
(3) Jain Sama;
(4) Bodh Samaj
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95.

96.

97.
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99.

St m v Az 3° yfifa germg d= A 94.

(1) gfodsyt st
(2) fHoeg sut
(3) feggrdty sut
(4) <T@I g U

IJET UTIST T ASH T Ads fHW saaT 95,

PERTE 95 e ni3 fag Ifenr |
(1) 1914 & aus &g

(2) 1913 €. AeedifAnd &9
(3) 1915 . 33 &9

(4) 1916 =t. FIHdT feg

adte w13 AiES 3 § Ane! fontt e=@z Bt 96.

H niEwst Ffed JSit arghtt a5, § &t
THE TS |

(1) FR&SIS

(2) AMEHIdIe

(3) TG

(4) BINTHI

“BI339, BT T, BAT BE W3 BT AT 97.

ARG de 9”7, fea as farev I
(1) fes

(2) fegardtn fBas

(3) M™MJA3

(4) @aﬁ’r

AT YU »iUSTl € AT oS Wi &9 AdeT 98.

a

o)

(1) yors H3dt
(2) THUS

(3) JHSIUST
(4) Bu-IHZIUIt

IH Ot A9 3 ISt w3 faodt I€t 9 99.

(1) FF ess
(2) JTEEIe

(3) BIANEHI
(4) BUSHAIE
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Who was the most famous sultan of Lodhi

Dynasty?

(1) Behlol Khan Lodhi
(2) Sikandar Lodhi
3) Ibrahim Lodhi

(4) Daulat Khan Lodhi

When and where was Gadhar party formed under
the leadership of Sohan Singh Bhakna?

(1) 1914 ADin Japan

(2) 1913 AD in San Francisco

(3) 1915ADin Canada

(4) 1916 AD in Germany

What are the courts known as that have been set
up for speedy justice to the poor and exploited ?

(1 Session Courts
(2) Consumer Courts
(3) High Courts

(4) LokAdalats

“Democracy is a government of the people, for
the people and by the people". Who said these
words?

(1 Lenin

(2) Abraham Lincoln

(3) Aristotle

4) Mahatma Gandhi

Who can forgive the convicted criminal?

(1 Prime Minister

(2) Governor
3) President
(4) Vice-President

Which is the highest court of the state ?
(1) District Court

(2) High Court
(3) Lok Adalat
(4) Supreme Court
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106.

SaAF fee g ' TuNae far I v I T5 |
(1) fagag
(2) JgHI=
(3)
(4)

ATy
niarew =udt © gu <9 393 ff9 »ie A8

w3 ISB-IF A9 393 I FIET q9 fonri
Ut ® gu 9o wioow foodt Sinst <o

SIS MEAS |
(1) 1700€.f9  (2) 1800t <9
(3) 1600.ff9 (4) 1500%t. 9

‘Uardt Ae'® der’ a3 fam enrar fefipr
famir |

(1) Fas fiw gaar

(2) WITIZA3 fAW

(3) g fonrs

(4) Ao A

II3 T AfSUS e IS T afeniT 2
(1) 9 THII 1946 =T
(2) 9®<IT 1946 Tt
(3) 26 A&SIT 1946 T
(4) 9 THIT 1947 =t

s™HEE @9H faH § Um i3 AT 757
(1) f9eaféarnigra (2) HuH3dt
(3) mites (4) IHCIUST

feus Az =7 HE9 g=6 BEl §ve fast grdist
Gl

(1) 187
(3) 307

(2) 25°®
(4) 357

uft dars A »i9" A9 fe @A dagerst

I96 U I TS YA AN § ot fxar Arer I
(1) Hepstgaee (2) #HerHedtH
3 3 (4) rigtdtTas

19

100.

101.

102.

103.

104.

105.

106.

Which state has the highest number of members
inthe Lok Sabha?

(1) Bihar
(2) Gujarat
3) Punjab
(

4) Uttar Pradesh

The Britishers entered India as traders and
gradually captured the whole India. When did the
Britishers as traders came to India?

(1) In1700AD (2) In1800AD

(3) In1600AD (4) In1500AD

Who wrote the song 'Pagri sambhaal jatta'?
(1 Sohan Singh Bhakna

(2) Sardar Bhagat Singh
(3) Banke Dayal
(4) S.Ajitsingh

When was the process of the formation of the
Indian Constitution initiated?
(1) 9 December 1946

(2) 9November 1946
(3) 26 January 1946
(4) 9December 1947

The whom are nomination Papers presented?
(1 Returning Officer

(2) Chief Minister
(3) Speaker
(4) President

What age is required to become the member of
Legislative Assembly?

(1) 18 years (2)
3) 30years (4)

25years
35years

Whatis the dry season caused by tropical cyclones
inthe Bay of Bengal or the Arabian Sea called?

(1) Monsoonbreak (2) Jetstream

(3) Loo 4) Mango showers
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113.

disT, 3% g\, JUT, USHs, J93, €5 w3
g nife far fory & erst & Bt fe
Tt I5 |

(1) AEcA® (2)
(3) S[UTISH®  (4)

I SHS
YHS SHS

I3 fafinit fo°9° 3793 T Tust gmrt 5o faodt
I3 I geEt?
(1) dJraHt
(3) =9ur

(2) AIS
(4) gA3

Seufax gt = AeH w37 fagzT em 32

(1) 333 (2) vHItET
(3) HAUS (4) fEa&s

Suz-UeHt HeHs Ust Ae” ufadt s § UeHt

3¢ ‘3 973 HoT9 T9Y q9Emi I5 3T fER §
&t frar AET I ?
(1) TH-TAH (2) nigdtTEs

(3) HEHETTECE (4) &

TSHS o 35 83 mis I1 8r mHts Qus
I3 fera3t Tt Ea1 5% 83t a9 AER 36
UT IBHS T Ufgeg ¥ nis W fer mls
Bus ¥t 9 99 I5 19w A3 &9 fen
Afast § ot afde o551

(1) ¥RAHtSgaarat (2) 20t It ggaardt

(3) fegxggaardt (4) 3BT g
SusSarsT Tt 3T & AZES K9 .........
AfHs ger I?

(1) =ASN

(2) A=t

(3) THIN 3 A

(4) fegst f&5 It &t

93 ATAT »™H 39 ‘I 99 A fXax HItd
PUST g7 B AST ‘g UR 9el I

(1) #&<It (2) eg=dt

(3) THII (4) T
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Which category of crops do the sugarcane, oil
seeds, cotton, jute, rubber, wool and tobacco

belongto?

(1) Zaid crops

(2) Food Crops

3) Commercial Crops
(4) Dry crops

Which of the following seasons does not happen in
SouthIndia?

(1 Summer (2)
(3) Rainy (4)

Winter
Spring

Which country is known as the 'Father of the
Industrial Revolution'?

(1) India (2)
3) Japan (4)

America
England

When the South-West monsoon winds bring heavy
rain to the West Coast on the first of June, What do
we callit?

) Kal-Baisakhi

(2) Mango showers
3) Burst of Monsoon
(4) Loo

Gulshan has owned three acres of land. Four
members can work efficiently on this land but
eight members of Gulshan's family are
cultivating the existing land. What name is given
to such type of situation in economics?

(1 Seasonal unemployment

)
2) Disguised unemployment
(3) Voluntary unemployment
(4) Technical unemployment
A consumer Needs..........cceevriiinnenninnns for the
satisfaction of his wants.
W) Goods
2) Services
(3) Goods and Services
4) None of above

In which month of the year does Indian
government generally present its budget in Lok
Sabha?

W) January (2)
(3) December 4)

February
June
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T BThar fIA eniraT 9%e AR I5 |

(1) AIII (2) ufgerg e Hagt
(3) WAt  (4) fegst &5 Jet &t

dist Aot fa@sriar 3 UAmg § ot aH s
il

(1) Foltmr
(3) gIH=I3

(2) UAg
(4) AIJEr HE

A3 o fE9 fuss =& gorust v 40% faAT

feom Asthort =7 3, feast § dt afde a2

(1) FEsx TEAUST

(2) FI@B NS UHIG-Creust

(3) Har® <t efons

(4) BaeTT

gStast U39 3 OF € Saza ©-f3uE HAget

& grars fhwer 31 fem B39 3 d® gHe
niHES T fas yStas fdrmyus ger 92

(1) 25% (2) 19.9%

(3) 30% (4) 28%

WTHTEL 3 giE IABT y'E fEdart =T
IHeIIxTs 9 o3 famr, fer v a9 &t At |
(1) ferTr 339 W3 95 Bt

(2) W3IITHSI U TURT HET

(3) HEES § vifsnadt 3 5o BET

(4) oTHHEE IHRT BT

IJHSIT niHEs far 8/ © o fosrmbo &t

...................... T HEs e T |

(1) 6HIS (2) fExHdter

3) fEefeftrs 4) €%
VITHES TUT 3™ eeeveencecrncennns T Tus <t
ASeST gut I

(1) ardtet (2) HAgdt

3) &g (4) Sugar
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Who run Cottage industries?
(1 Government

(2) Members of family

(3) Labour

(4) None of these

What name was given to Punjab by Chinese
traveller Hieun Tsang?

(1 Tsekia (2)
(3) BrahamVarata (4)

Punjab
Border state

Over 40% of the vegetation found in our country is
of the foreign species, what are they called?

(1 Local Vegetation

(2) Boreal or Paleo-Tropical

(3) Terror of Bengal

(4) Lentana

About two-thirds of the country's workers are
employed in the agricultural sector. What
percentage of the total National Income is
generated from this sector?
(1) 25% (2)
3) 30% (4)

19.9%
28%

After independence, the Coal mining industry
was nationalized. What was the reason?
(1 Tolimitits stock.

(2) Toincrease international trade
3) Toavoid exploitation of the workers
4) Only to make profit

National Income is the Income earned by the
normal residents of acountry during .................
(1 6 months

(2) One month
(3) One financial year
(4) 2years

With the rise in income , there is a possibility of
increasein....................

(1 Poverty (2)
(3 Profit (4)

Wages
Consumption
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Directions: Read the passage given below and answer the questions that follow:

Our ancestors preferred to live in joint families. But nowadays, culture is changing and due to their

works/jobs/sources people are preferring nuclear families. Each type of family has its boon or bane. In joint family

nurturing of children is easy, because normally grandparents nurture and carry children with themselves. In nuclear

families nurturing/bringing up of children is a big issue. Aimost all parents do jobs in institution/agencies etc. that's why

they do not have enough time. It creates problem in bringing up of children. Along with this major problem, it is also the

biggest cause behind other problems. Without family members around, a child spends majority of the time outside the

house. He develops bad habits in him such as overnight parties; excessive extravagance, splurging pocket money; no

time for studies and family etc. These are the common problems of all nuclear families. So, good environment and good

family are the basic needs of growing children. It develops good habits and good manners in children.

131.

132.

133.

134.

135.

Fill in the blank with suitable Gerund:

is good for health.
(1) Laughing (2) Tolaugh
(3) Laugh (4) Laughed

Who has called you?(Choose the correct
passive voice)

(1 By whom have you been called?
2) By whom has you been called?
(3) By whom are you been called?
4) By whom were you been called?

A list of issues to be discussed at a meeting.
(Choose one word for the sentence)

(1 agenda (2) calendar

(3) schedule (4) plan

Gurman is an apple of her mother's eye. In this

sentence 'an apple of her mother's eye' means

(1 Fake thing

(2) Invaluable thing

(3) Valuable thing

(4) None of the above

Punctuate the following sentence:

(1 Looking straight at him he said, 'l cant help
you'.

2) looking straight at him he said, | can't help
you.

(3) Looking straight at him, he said,"l can't help
you".

4) Looking straight at him, he said, | can't help
you.

23

136.

137.

138.

139.

140.

Which type of family is discussed in the
paragraph?

W) Joint family

(2) Nuclear family

3) Familyin general

4) Both jointand nuclear families

What do you understand by the idiom 'aboon or
abane'?

(1) Both good and bad

(2) Something thatis neither good nor bad

(3) Something that s either good or bad

4) Something that s better than nothing

In contemporary time which type of family is
preferred by people?

Q) Joint family

2) Childless family

(3) Extended family

4) Nuclear family

In what kind of activities do the children of
nuclear families indulge themselves?

W) extravagance

(2) splurging pocket money

(3) overnight parties

(4) allofthese

Whatis the meaning of the word 'nurture'?
W) upbringing

2) qualities
(3) environment
4) grandparents
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141.

142.

143.

144.

145.

146.
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147.

148.

149.

150.
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